Frame with Hardware

Frames, Back Canes
and Forks Shown for

Reference Only

TRBKTS
Hardware

S S S — |



Frame with Hardware

Item
Number

Note

Part Number

Description

Quantity Per

Package

1

N O MW

© 0000 ~NOO O1TWN

PR R R R R
o0 h WNRERO

1172219

1172246

1172248

1172217

See Chart
See Chart
See Chart

Kit, H-Block Hardware

NLA - Screw, Socket Button Head (M6 x 40mm)
H-Block, Front - Left

H-Block, Front - Right

NLA - Locknut (M6 x 1)

Kit, H-Block Hardware, Junior

Locator, Seat

NLA - Screw, Socket Button Head (M6 x 40mm)
NLA - Locknut (M6 x 1)

Kit, H-Block Hardware, Junior (12 - 15" W)
Screw, Socket Head, Cap (M6 x 35mm)

NLA - Locknut (M6 x 1)

H-Block, Front - Right

H-Block, Front - Left

Kit, TRBKTS Mounting Hardware

H-Block, Front - Right

H-Block, Front - Left

Bracket, Tie Down, Front

Plate, Tie Down, Rear

nla - Screw, Hex Head w/ Patch (M6 x 1 x 50mm)
Screw, Hex Head Cap (M6 x 1 x 60)

Screw, Hex Head Cap (M6 x 1 x 50)

NLA - Spacer

NLA - Screw, Socket Head Cap (M6 x 1 x 40mm)
Washer (1/4 x 1/2 x 1/32")

Frame Assembly w/ Hardware, Standard

Frame Assembly w/ Hardware, Heavy Duty
Frame Assembly w/ Hardware - TRRO/TRBKTS

1 1

NNNMNNBAENNMNRPPRPPPEPNMNNMEPENNMNMENREPRRERDN

PR RRPRRPRPRRPRRPRPRRPRPRRPRRPRPRRPRRPRPRPRRPRPRRRERPR
'—\
)

N

NOTE:

A - Kit includes items 3, 4, and 5.
B - Kit includes items 3, 5, and 6.

C - Kitincludes items 8 - 16.

Frame Assembly w/ Hardware, Standard

Frame Style

Seat Depth Part Number

Assembly

Hardware Part No.

MYONADLT
MYONTO
MYONTS

15" 8881172238

1172219

MYONADLT
MYONTO
MYONTS

16 - 18" 8881172244

1172219

MYONADLT
MYONTO
MYONTS

19 - 20" 8881172239

1172219

Specify Frame Color when ordering,

see "Frame Finishes" Category for Color choices.




Frame with Hardware
Frame Assembly w/ Hardware, Heavy Duty

Frame Style Seat Depth Part Number Hardware Part No.
MYONAC - HDPG 15-16" 8881172241 1172219
MYONAC - HDPG 17 - 18" 8881172242 1172219
MYONAC - HDPG 19 - 20" 8881172243 1172219

Specify Frame Color when ordering, see "Frame Finishes" Category for Color choices.




Frame with Hardware
Frame Assembly w/ Hardware - TRRO/TRBKTS

Frame Style Seat Depth Part Number Hardware Part No.
MJ\(()O’\IQ-?CIST 15" 8881172238 1172216
M,\;eg,ﬁ‘-?gr 16 - 18" 8881172244 1172216
MJ\?SI@E(ST 19 - 20" 8881172239 1172216
M,\;?gﬁ?g 15" 8881172238 1172217
M,\;(Y)gﬁ-?lsj 16 - 18" 8881172244 1172217
M,\\,(lsgﬁ-?lsj 19 - 20" 8881172239 1172217

Specify Frame Color when ordering, see "Frame Finishes" Category for Color choices.




